Economics Test Review
Textbook: 6-1
· When there is a price ceiling, there will be an excess quantity demanded over quantity supplied. So there will be a shortage of the goods.

· When there is a price floor, there will be an excess supplied over quantity demanded. So there will be a surplus of goods.

· An example of price ceiling is rent control (a maximum for housing price)

· An example of price floor is minimum wage (a minimum for wages)

Taxes
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Textbook: 3-3
Public good

· Government collect taxes to fund projects in the public interest, which if paid by individuals would be too much and no one is willing to take the entire burden
· Certain facilities and services should be available to all.

· Any number of consumes can use them without reducing benefits to any single consumer.
· The total benefits to society are greater than the total cost

· There are also drawbacks:

· No individual gets to decide what roads will be built and where (inefficiency)

· Free rider problem- someone who would not choose to pay for a certain good or service, but would get the benefits of it anyway if it were provided as a public good

· Public sector- transactions of the government

· Private sector- transactions of individuals and businesses

· Market failure is a situation in which the market on its own doesn’t distribute resources efficiency. Public goods are market failures because private company building roads would be impractical, and government collecting tax to build roads is not really free choice.

EXLUDABLE GOOD: anything which someone can be prevented from using

RIVAL GOOD: anything for which one person’s use diminishes the value to another person
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An externality is a transaction cost or benefit that is not borne by the parties to the transaction
Why do they cause market failures?
· Whenever externalities exist, the cumulative actions of self-interested buyers and sellers DOES NOT => maximize utility for society as a whole

· This is because individuals make marginal buying and production decisions that ignore certain costs

· As a result, price signals are not accurate…

· And too little or too much is produced or consumed
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